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ERODE – 12, CONTACT: 9500939789 

 

NEET MICRO TEST 13 (23.11.2024)    20x4=80 MARKS 

 

Botany: Molecular basis of Inheritance, Zoology: Human Health & Disease 

Chemistry: Chemical kinetics, Physics: Oscillation 

 

1. The given figure shows the structure of 

nucleosome with their parts labelled as A, B & 

C. Identify A, B and C. 

 
1) A – DNA; B – H1 histone; C – Histone 

octamer 

2) A – H1 histone; B – DNA; C – Histone 

octamer 

3) A – Histone octamer; B – RNA; C – H1 

histone 

4) A – RNA; B – H1 histone; C – Histone 

octamer 

 

2. DNA has two strands which are ___ to each other. 

1) Supplementary 

2) Complementary 

3) Equal 

4) Perpendicular 

 

3. Taylor demonstrated that the DNA replication in 

chromosomes is semi-conservative in 

1) Ecoli 

2) Vicia faba 

3) Both (1) & (2) 

4) Pisum 

 

4. Which gene is the constitutive gene of Lac operon 

1) Lac z 

2) Lac y 

3) Lac I 

4) Lac a 

 

5. In a translational unit, UTRs are present 

1) Before start codon 

2) After stop codon 

3) In between start and stop codon 

4) Both (1) and (2) 

 

1. nfhLf;fg;gl;l glk; epA+f;spNahNrhkpd; 
mikg;igf; fhl;LfpwJ> mtw;wpd; ghfq;fs; A, 

B & C vd ngauplg;gl;Ls;sd. A, B kw;Wk; C I 

milahsk; fhzTk;. 

 
1) A–bvd;V; B–H1 `p];Nlhd;; C– `p];Nlhd; 

Mf;Nlhku; 
2) A–H1 `p];Nlhd;;; B–bvd;V; C – `p];Nlhd; 

Mf;Nlhku; 
3) A–`p];Nlhd; Mf;Nlhku;; B–Mu;vd;V; C–H1 

`p];Nlhd; 
4) A–RNA;; B–H1 `p];Nlhd;;; C–`p];Nlhd; 

Mf;Nlhku; 
 

2. bvd;V ,uz;L ,iofisf; nfhz;Ls;sJ> mit 

xd;Wf;nfhd;W ___ MFk;. 
1) Jiz 

2) epug;G$W 

3) rkk; 
4) nrq;Fj;jhf 

 

3. FNuhNkhNrhk;fspy; bvd;V ,ul;bg;ghjy; ghjp 
goikad fhj;jy; vd;gij ,jpy; nla;yu; 
ep&gpj;jhu;. 
1) <Nfhiy 

2) tprpah /Nggh 
3) ,uz;Lk; (1) & (2) 

4) igrk; 
 

4. ve;j kugZ yhf; Xgudpd; mikg;G kugZ MFk; 
1) Lac z 

2) Lac y 

3) Lac I 

4) Lac a 
 

5. nkhopngau;g;G myF xd;wpy;> UTRfs; vq;F 
cs;sd 

1) FwpaPL njhlq;Ftjw;F Kd; 
2) epWj;j FwpaPbw;F gpwF 

3) njhlf;f kw;Wk; epWj;j FwpaPbw;F ,ilNa 

4) ,uz;Lk; (1) kw;Wk; (2) 
  

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


..

2 

6. Match the following. 

A) Common cold i) Microsporum 

B) Ring worm ii) Amoebiasis 

C) Malignant malaria iii) Rhino virus 

D) Entamoeba histolytica iv) P.falciparum 

1) A - iii, B - i, C - ii, D - iv 

2) A - i, B - iii, C - iv, D - ii 

3) A - iii, B - i, C - iv, D - ii 

4) A - i, B - iv, C - iii, D - ii 
 

7. Identify the parts. 

 
1) A - Antigen binding site, B - Light chain, C - 

Heavy chain, D - Disulphide bond 

2) A - Antigen binding site, B - Heavy chain, C - 

Disulphide bond, D - Heavy chain 

3) A - Light chain, B - Antigen binding site, C - 

Disulphide bond, D - Heavy chain 

4) A - Heavy chain, B - Light chain, C - Antigen 

binding site, D - Disulphide bond 
 

8. Enzyme responsible for replication of HIV in T4 

cells is ___. 

1) DNA polymerase 

2) RNA transcriptase 

3) RNA polymerase 

4) Reverse transcriptase 
 

9. Which of the following antibody is present in 

mother’s milk and provides natural passive 

immunity to new born? 

1) IgD 

2) IgM  

3) IgE 

4) IgA 
 

10. Identify the correct statement/s. 

a) Benign tumors normally remain confined to 

their original location. 

b) Malignant tumors are a mass of proliferating 

cells called neoplastic or tumor cells 

c) The property of metastasis is the most feared 

property of malignant tumors 

d) Benign tumors doesn’t cause any damage 

1) a, b and c only 

2) a, b, c and d 

3) a and c only 

4) c and d only 

6. gpd;tUtdtw;iwg; nghUj;jTk;. 
A) rhjhuz rsp i) ikf;Nuh];Nghuk; 
B) tisjir GO ii) mkPgpahrp]; 
C) tPupak; kpf;f kNyupah iii) iuNdh itu]; 
D) vd;lkPgh 

`p];Nlhypl;bfh 
iv) P. ghy;rpghuk; 

1) A - iii, B - i, C - ii, D - iv 

2) A - i, B - iii, C - iv, D - ii 

3) A - iii, B - i, C - iv, D - ii 

4) A - i, B - iv, C - iii, D - ii 
 

7. ghfq;fis milahsk; fhzTk;. 

  
1) A – vjph;nghUs; J}z;b ,izAk; gFjp> B- 

,yFthd rq;fpyp> C- fdkhd rq;fpyp> D - 
ilry;igl; gpizg;G 

2) A - vjph;nghUs; J}z;b ,izAk; gFjp> B- 

fdkhd rq;fpyp> C- ilry;igl; gpizg;G> 
D - fdkhd rq;fpyp 

3) A - ,yFthd rq;fpyp> B- vjph;nghUs; 
J}z;b ,izAk; gFjp> C- ilry;igl; 
gpizg;G> D - fdkhd rq;fpyp 

4) A - fdkhd rq;fpyp> B- ,yFthd rq;fpyp> 
C- vjph;nghUs; J}z;b ,izAk; gFjp> D 

- ilry;igl; gpizg;G 
 

8. T4 nry;fspy; HIVapd; ,ul;bg;ghjYf;F 

fhuzkhd nehjp ___. 

1) DNA ghypkNu]; 
2) RNA buhd;];fpupg;Nl]; 
3) RNA ghypkNu]; 
4) jiyfPo; buhd;];fpupg;Nl]; 

 

9. gpd;tUk; ve;j Md;bghb jhapd; ghypy; 
cs;sJ kw;Wk; Gjpjhfg; gpwe;jtu;fSf;F 
,aw;ifahd nrayw;w Neha; vjpu;g;G 
rf;jpia toq;FtJ? 

1) IgD  2) IgM   3) IgE  4) IgA 
 

10. rupahd $w;Wfis milahsk; fhzTk;. 
a) jPq;fw;w fl;bfs; nghJthf mtw;wpd; mry; 

,lj;jpNyNa ,Uf;Fk;. 
b) tPupakpf;f fl;bfs; vd;gJ epNahgpsh];bf; 

my;yJ fl;b nry;fs; vdg;gLk; ngUf;Fk; 
nry;fs; 

c) Ntw;wpl guty; gz;ghdJ tPupak; kpf;f 
fl;bfspd; kpfTk; mQ;rg;gLk; gz;ghFk; 

d) jPq;fw;w fl;bfs; ve;j ghjpg;igAk; 
Vw;gLj;jhJ 

1) a, b and c only 2) a, b, c and d 

3) a and c only 4) c and d only 
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11. Half life period of a first order reaction is 30 min. 

The rate constant of the reaction is 

1) 6.29 x 10–4 min–1 

2) 1.25 x 10–3 min–1 

3) 2.31 x 10–2 min–1 

4) 6.93 x 10–3 min–1 
 

12. Which is correct plot of In k vs 1/T for Arrhenius 

equation? 

1)  

2)  

3)  

4)  
 

13. Which of the following reaction is an example of 

zero order reaction? 

1) CH3 COOC2 H5 + H2O 
  H+  
→   CH3 COOH + 

C2H5 OH 

2) 2NH3(g) 
1130 K

Pt catalyst⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ N2(g) + 3H2(g) 

3) Cane sugar + H2O 
  H+  
→   Glucose + fructose 

4) C2H4(g) + H2(g) → C2H6(g) 
 

14. For a reaction 

 2A2(g) + ½B2(g) → ½C2(g) + D2(g). 

The rate of reaction is given by 

1) −
2Δ[A2]

Δ𝑡
 

2) −
Δ[D2]

Δ𝑡
 

3) 
2Δ[B2]

Δ𝑡
 

4) 
2Δ[C2]

Δ𝑡
 

 

15. Molecularity of a reaction cannot be 

1) 1 

2) 2 

3) 0.5 

4) 3 

11. Kjy; tif tpidapd; miu MAs; fhyk; 30 
epkplk;. tpid Ntf khwpypapd; kjpg;G 

1) 6.29 x 10–4 min–1 

2) 1.25 x 10–3 min–1 

3) 2.31 x 10–2 min–1 

4) 6.93 x 10–3 min–1 
 

12. mu; P̀dpa]; rkd;ghl;bw;fhd In k vs 1/T ,d; 
rupahd tiuglk; vJ? 

1)  

2)  

3)  

4)  

 

13. fPo;fz;ltw;Ws; G+[;[pa tif tpidf;fhd 
vLj;Jf;fhl;L vJ? 

1) CH3 COOC2 H5 + H2O 
  H+  
→   CH3 COOH + 

C2H5 OH 

2) 2NH3(g) 
1130 K

Pt catalyst⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ N2(g) + 3H2(g) 

3) Cane sugar + H2O 
  H+  
→   Glucose + fructose 

4) C2H4(g) + H2(g) → C2H6(g) 

 

14. fPo;fz;l tpidf;F 
 2A2(g) + ½B2(g) → ½C2(g) + D2(g). 
tpidapd; Ntfk; 

1) −
2Δ[A2]

Δ𝑡
 

2) −
Δ[D2]

Δ𝑡
 

3) 
2Δ[B2]

Δ𝑡
 

4) 
2Δ[C2]

Δ𝑡
 

 

15. fPo;fz;ltw;Ws; %yf;$W vz; ,y;yhjJ vJ? 
1) 1 

2) 2 

3) 0.5 

4) 3 
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16. A body is vibrating in simple harmonic motion. 

If its acceleration is 12 cm/s2 at a displacement 

3cm from the mean position, then time period is 

1) 6.28 s 

2) 3.14 s 

3) 1.57 s 

4) 2.57 s 

 

17. The amplitude and the time period in a SHM is 

0.5 cm and 0.4s respectively. If the initial phase 

is π/2 rad, then the equation of SHM will be 

1) y = 0.5 sin 5 πt 

2) y = 0.5 sin 4 πt 

3) y = 0.5 sin 2.5 πt 

4) y = 0.5 cos 5 πt 

 

18. If kS and kP respectively are effective spring 

constant in series and parallel combination of 

springs as shown in the figure, find kS / kP 

 
1) 9/2 

2) 3/7 

3) 2/9 

4) 7/3 

 

19. Four simple harmonic vibrations x1 = 8 sin (ωt), 

x2 = 6 sin [ωt + π/2], x3 = 4 sin (ωt + π) and x4 = 

2 sin [ωt + 3π/2] are superimposed on each other. 

The resulting amplitude and its phase difference 

with x1 are respectively 

1) 20, tan–1 (1/2) 

2) 4√2, π/2 

3) 20 tan–1 (2) 

4) 4√2, π/4 

 

20. A particle oscillating under a force F⃗  = – kx⃗  – bv⃗  
is a (k and b are constants) 

1) Simple harmonic oscillator 

2) Non–linear oscillator 

3) Damped oscillator 

4) Forced oscillator 

 

16. xU cly; vspikahd ̀ hu;Nkhdpf; ,af;fj;jpy; 
mjpu;fpwJ. mjd; KLf;fk; ruhrup epiyapy; 
,Ue;J 3cm ,lg;ngau;r;rpapy; 12 cm/s2 Mf 
,Ue;jhy;> fhy msT 

1) 6.28 s 

2) 3.14 s 

3) 1.57 s 

4) 2.57 s 

 

17. xU jdpr;rPhpir ,af;fj;jpy; tPr;R kw;Wk; fhy 

msT KiwNa 0.5 cm kw;Wk; 0.4 s. Muk;g 

epiy π/2 rad vd;why;> jdpr;rPhpir ,af;fj;jpd; 
rkd;ghL 

1) y = 0.5 sin 5 πt 

2) y = 0.5 sin 4 πt 

3) y = 0.5 sin 2.5 πt 

4) y = 0.5 cos 5 πt 

 

18. glj;jpy; fhl;lg;gl;Ls;sgb kS kw;Wk; kP 
Mfpait KiwNa RUs; khwpyp kw;Wk; gf;f 

,izahd fyitahf ,Ue;jhy;> kS / kP If; 
fz;lwpaTk; 

 
1) 9/2 

2) 3/7 

3) 2/9 

4) 7/3 

 

19. ehd;F jdpr;rPhpir mjpu;Tfs; x1 = 8 sin(ωt),  

x2 = 6 sin [ωt + π/2], x3 = 4 sin (ωt + π) kw;Wk;  
x4 = 2 sin [ωt + 3π/2] Mfpait kpifg;gLj;jg; 
gLfpd;wd. ,jd; tpisthf tUk; tPr;R kw;Wk; 
x1 cld; mjd; epiy NtWghL KiwNa 

1) 20, tan–1 (1/2) 

2) 4√2, π/2 

3) 20 tan–1 (2) 

4) 4√2, π/4 

 

20. F⃗  = – kx⃗  – bv⃗  tpirapd; fPo; CryhLk; xU Jfs; 
(k kw;Wk; b khwpypfs;) 
1) jdpr;rPhpir miyT 

2) Neupay; my;yhj miyT 

3) jilAW miyT 

4) jpzpg;G miyT 
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NEET MICRO TEST 13 (23.11.2024)    20x4=80 MARKS 

 

=t1/2
0.693

k

k = = 2.31 ×0.693
30

10−2  min−1

1. Answer: (1) 

2. Answer: (2) 

3. Answer: (2) 

4. Answer: (3) 

5. ANSWER: (4) 

6. Answer: (3) 

7. Answer: (1) 

8. Answer: (4) 

9. Answer: (4) 

10. Answer: (1) 

11. Answer: (3) 

12. Answer: (2) 

13. Answer: (2) 

14. Answer: (4) 

k = Ae–Ea 
/RT

lnk = lnA–
Ea

RT

Decomposition of gaseous ammonia on a
hot platinum surface is a zero order
reaction at high pressure.

Rate of reaction =– =–1

2

Δ[ ]A2

Δt

2Δ[ ]B2

Δt

= =
2Δ[ ]C2

Δt

Δ[ ]D2

Δt

15. Answer: (3) 

16. Answer: (2) 

Molecularity of a reaction cannot be 
fraction.

2

T


 

 T = () second or 3.14 second 

 |a| = 2
x ; 12 = 2

(30) 

  = 2 rad/s = 

17. Answer: (4)

18. Answer: (3) 

19. Answer: (4) 

20. Answer: (3) 

a sin t
T

   
 

 

 y = 0.5 sin 
2

t y 0.5sin 5 t
0.4 2 2

            
   

 

= 0.5 cos 5t 

2
. y = a sin (r + ) = 

s 1 2

1 1 1

K K K
    1 2

S

1 2

K K 2K
K

K K 3
 


 

Kp = K1 + K2 = 3K 

S

P

K 2

K 9
  

 

Ax = 8 – 4 = 4 

and Ay = 6 – 2 = 4 

Therefore, resulting amplitude is 4 2  and 

phase difference with x1 is 
4


  

 

      –kx : restoring force 

-bv : damping force 

      The resulting amplitude and corresponding 

phase difference can be calculated by vector 

method as follows 

 

Botany: Molecular basis of Inheritance, Zoology: Human Health & Disease 

Chemistry: Chemical kinetics, Physics: Oscillation 
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